btlclnn®

Istruzioni d'uso
Gebrauchanweisungen
Notice d’'emploi
Instruction sheet
Instrucciones de uso
Gebruiksaanwijzing
Instrucoes para o uso

PART. F3462B 0dnyleg Xprong 09/08-01 - AP
91850/CF 1 91840/SSE 2
/ 91855/SSE
|
—
‘ X2
M6 x 12 x12 M6 x 12 X2
x12 L~ x4
2a /3a 3
91840/SSE
91855/SSE
91840/SS
91855/SS
91851/KF2
91852/KF2

91840/SSE
91855/SSE

91850/CF




91855/SSE

91840/SSE

850 mm

600 mm

| 23 /3a

91850/CF

12
M6 x 12
x12

3a

) o o o o '
0000000000400000000o
0 0 ,0 0 0

0,*




91851/KF2
91852/KF2

2a /3a

850

600

]

[

91852/KF2 =>Megabreak Frame 1

4P

5100 -0

3P

>Megabreak Frame 1/Frame 2

a a
< <
. o ) OlLI=,
U T B
_“_—H I /_
flmoo
L1
-} 0, h N > )
° 3| ﬁ
a a
] m
O ) OlI=

91852/KF2

91851/KF2 =>Megabreak Frame 1

4P

S 10 0=

3P

4P

3P

A S 1y S S
SRR R
S S S S S S st

wwu%woo SO DD DRD)

5

CodosodooN
LR INAN

4 =D=)=D) Mwmﬁu =

DD DDDDDDDDD
0000 0000 0000 0000 ODOD 0000 0000
P S ST ST SR ST ST S8,

A o
A A g

@

91852/KF2

91851/KF2




91840/SS
91855/SS

M6 x 12

3a

"

\\ | ) VAW pEnmmmy
1 /A R [TRAN
«w\ Nz )




